Porovnavani prirozenych cCisel
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Dopln spravné znaménka <, > nebo =:

50[=]50 34[<|44
12[<]33 81[>]75
79[<]88 44[<]65
71[>]33 34[<]41
30[<]85 64[>]15
Dopln spravné znaménka <, > nebo =:
b)
64[>]63 69[<]72
56[<]58 27[>]26
70[<]71 74[>]73
59[<]61 12[<]13
19[<]20 48[>]46
Dopln spravné znaménka <, > nebo =:
b)
387[>]96 633[<]707
126[<]495 791[>]398
861[>]608 598[<]902
203[<]879 130[<]|839
195[<]|636 16[<]529
Doplni spravné znaménka <, > nebo =:
b)
489[>]487 32[<]33
216[<]219 891[<]892
366[>]365 149[>]146
409[<]410 807[<]808
200[<]201 838[<]840

Dopln spravné znaménka <, > nebo =:

69[<]93
24[<]65
91[>]68
65[>]62
24[<]82

20[>]18
98[=]98
46545
22[5]22
47[<]49

502[<]890
908[>]124
275[<]802
538538

464[<]579

649[<]651
677[<]678
626[=]626
786[=]786
776[=]776

62000[>]620 79000[>]790 430[=]430

5900[>]590 8000[=]8000 360[=]360
15[5]15 800[=]800 7300[<]73000
530553 83[<]83000 46000[=]46000

54[<]540 8600[=]8600 98[<]980



